
 

CertKillers
Guaranteed Success with Accurate & Updated Questions.

Questions & Answers PDF

For More Information - Visit: 
https://www.certkillers.net/ 

Scrum
SASM

SAFe 5 Advanced Scrum Master

Visit us athttps://www.certkillers.net/sasm/

https://www.certschief.com/sasm/


 

Latest Version: 6.0  
 

Question: 1 
   
Continuous Integration involves integrating the code across all agile teams from commit to deploying 
on staging environment 
 
A. TRUE 
B. FALSE 
 

Answer: A     
 

Question: 2 
   
On a Kanban board, it is recommended to make the states of workflow more granular to help 
visualize ______ 
 
A. Flow 
B. WIP 
C. Work allocation 
D. Bottlenecks 
 

Answer: D     
 
Explanation/Reference: 
M<ore granular states in workflow help visualize the bottlenecks and in turn help 
identify steps to improve the flow 
 

Question: 3 
   
Which type of anti-patterns is listed here: The team does not have any data on how they are doing 
from past few iterations, hence they are not able to comment on what can be improved further 
 
A. Demos 
B. Planning 
C. Commitment 
D. Execution 
E. PO and Backlog 
F. Retrospectives 
 

Answer: F     
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Explanation/Reference: 
Retrospectives are not driven properly - there are discussions but no tangible 
measurement of any improvements that are done or are required 
 

Question: 4 
   
Benefit of Community of Practice (CoP) for Organization in short term is improved quality of decisions 
 
A. TRUE 
B. FALSE 
 

Answer: A     
 
Explanation/Reference: 
Short term benefit is more informed decision making leading to better quality of 
outcomes 
 

Question: 5 
   
Product Management has reprioritized some functionalities for a Feature. During the System Demo, 
Product Management is surprised that the team is still working on the old priority of feature. This is an 
example of weak collaboration between ______ and ________ (choose 2) 
 
A. Scrum Master 
B. Product owner 
C. Testers 
D. Team 
E. Developers 
 

Answer: B     
 
Explanation/Reference: 
PO and Team are not joined up and changes in priorities are not actively 
communicated and being worked upon 
 

Question: 6 
   
If we have to split stories for the following functionalities, which Story splitting approach will be used: 
A retail sites provides for buy-now, as well as, a bidding process where lowest bidder gets to buy the 
item 
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A. By underlying technology 
B. By choice of tools used for implementation 
C. By Business rule variations 
D. By use case 
E. As suggested by Product Owner 
F. By simplicity or complexity 
 

Answer: F     
 
Explanation/Reference: 
Story splitting by complexity level will be used. While buy-now could be a simpler case, 
compared to the bidding process 
 

Question: 7 
   
In SAFe CALMR Approach for DevOps, when someone is talking about Feature toggles or fixforward, 
they are referring to 
 
A. Lean Flow 
B. Automation 
C. Measurement 
D. Recovery 
 

Answer: D     
 
Explanation/Reference: 
All these are approaches of Recovery without impacting the existing functionalities 
 

Question: 8 
   
Enabler stories may include? (select 2) 
 
A. Improving Infrastructure 
B. New features 
C. Refactoring & Spikes 
D. Persona driven story 
 

Answer: A,C     
 
Explanation/Reference: 
Enabler stories could be any of the following - Refactoring and spikes , Building or 
improving infrastructure, Verification of system qualities 
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Question: 9 
   
There are __ core competencies of Business Agility 
 
A. 4 
B. 7 
C. 5 
D. 3 
 

Answer: B     
 
Explanation/Reference: 
There are seven core competencies of Business Agility in the SAFe Framework 
 

Question: 10 
   
As an attribute of Systems Thinking, optimizing a ________ does not optimize the system 
 
A. Feature 
B. Component 
C. Team 
D. Architecture 
 

Answer: B     
 
Explanation/Reference: 
Optimizing a component only gives localized improvement and not system level 
improvement 
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